Minitab Lab Assignment #1 Solutions 

I. Assumptions

1.  
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2.  A random sample is obtained

3.  
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 is known

II. Hypothesis

a. Is the mean hemoglobin reading of surgical patients different than 14 grams per deciliter?

b. 
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III. Test Type

Because we know 
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we will use a z-test (normalcdf)
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IV. Test Results
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V. Conclusion:  Reject Ho

There is sufficient evidence at the 5% level of significance to suggest that the mean hemoglobin reading of surgical patients is different than 14 grams per deciliter.

Minitab Lab Assignment #2 Solutions 

I. Assumptions

1.  
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2.  A random sample is obtained

II. Hypothesis

a. Do non-filtered cigarettes have a mean nicotine level greater than 40 mg?

b. 
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III. Test Type

Because we do not know 
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we will use a t-test (tcdf)
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IV. Test Results
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V. Conclusion:  Reject Ho

There is sufficient evidence at the 5% level of significance to suggest that the mean amount of nicotine is non-filtered cigarettes is greater than 40 mg.

It is also acceptable to simply paste the results of Minitab here instead of writing down this information.





It is also acceptable to simply paste the results of Minitab here instead of writing down this information.
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